
 
Latest Revision: 9/9/2020 

For questions or help with the installation, please call SDHQ Offroad @ 480-633-2929  
Mon.–Fri. 8:00am–5:30pm and Sat. 8:00am–3:30pm Arizona Time. www.sdhqoffroad.com  

Page 1 of 6 

 
 

Product Packing List 
Product:    SDHQ-00-1130-U1-RCR12 

Description: Universal Switch Pros RCR-12 Keypad Mount 
 

  (1) SDHQ RCR-12 Keypad Bezel   SDHQ-00-1130-U1-RCR12-A 
  (1) ¼” Acrylic Backer     SDHQ-00-1130-U1-RCR12-B 
  () Hardware Package    SDHQ-00-1130-U1-HP 
   (4) #6 – 32 x ¾” S.S. Button Head Bolt 
   (4) #6 S.S. Washer 
   (4) #6 – 32 S.S. Nylock Nut 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

 
 
 
 
 
 
 
 
 

 
Inspected and Packaged By:        Date:      



 

For questions or help with the installation, please call SDHQ Offroad @ 480-633-2929  
Mon.–Fri. 8:00am–5:30pm and Sat. 8:00am–3:30pm Arizona Time. www.sdhqoffroad.com  

Page 2 of 6 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 
 



 

For questions or help with the installation, please call SDHQ Offroad @ 480-633-2929  
Mon.–Fri. 8:00am–5:30pm and Sat. 8:00am–3:30pm Arizona Time. www.sdhqoffroad.com  

Page 3 of 6 

INSTALLATION INSTRUCTIONS 
Product:    SDHQ-00-1130-U1-RCR12 

Description: Universal Switch Pros RCR-12 Keypad Mount 

 

 
 

Tech Notes 
The recommended install location is in the headliner of your vehicle. 

Cutting/Drilling is required for install. 
For use with the Switch Pros RCR-Force-12.  

Approx. Install Time: 1 Hour 

Parts List Hardware List Required Tools 
(1) SDHQ RCR12 Keypad Bezel 
      SDHQ-00-1130-U1-RCR12-A 
(1) ¼” Acrylic Backer 
      SDHQ-00-1130-U1-RCR12-B 
(1) Hardware Package 
      SDHQ-00-1130-U1-HP 

(4) #6 – 32 x ¾” S.S. Button Head Bolts 
(4) #6 S.S. Washers 

(4) #6 – 32 S.S. Nylock Nuts 

Sharp Pick 
Razor Blade 
8mm wrench 

5/64” Allen Drive 
Fine Tip Sharpie 
5/32”, ¾” Drill Bit 

Drill 



 

For questions or help with the installation, please call SDHQ Offroad @ 480-633-2929  
Mon.–Fri. 8:00am–5:30pm and Sat. 8:00am–3:30pm Arizona Time. www.sdhqoffroad.com  

Page 4 of 6 

 
***READ ALL INSTRUCTIONS THOROUGHLY FROM START TO FINISH BEFORE BEGINNING INSTALLATION! *** 

 

Installation Instructions: 
1. Unbox all parts. Familiarize yourself with the parts and the diagram above.  

 
2. If you are installing the Keypad into the headliner of a vehicle with an overhead console, it will 

need to be removed before installation. If you are installing the Keypad into another location, 
verify the Keypad, Bezel and Backer all fit without any interference. Begin planning out your 
wiring once fitment is verified. 
 

3. In your vehicle, align the Acrylic Backer on your 
headliner. Double check clearance behind the 
headliner to mount and wire the Switch Pros Keypad. 
Mark the (8) mounting holes and Switch Pros Keypad 
harness hole as shown right. (9100 backer shown) 

 
 
 
 

 
 

4. Use a sharp pick to create the holes for mounting the Keypad. Use a razor blade to cut the 
hole for the harness. Use the 5/32” and ¾” bits respectively if mounting to a tougher surface. 

 

#6 – 32 x ¾” S.S  

Button Head Bolts 

#6 – 32 S.S Washer 

and Nylock Nut 

Switch Pros Hardware 



 

For questions or help with the installation, please call SDHQ Offroad @ 480-633-2929  
Mon.–Fri. 8:00am–5:30pm and Sat. 8:00am–3:30pm Arizona Time. www.sdhqoffroad.com  

Page 5 of 6 

5. Install the Switch Pros supplied threaded studs into the back of the Keypad. Install the Keypad 
into the SDHQ Keypad Bezel. Pull the Keypad harness through the hole and align the Keypad 
and Bezel.  

 
6. Align the Acrylic Backer behind the headliner and pull the Keypad Harness through the hole. 

Place the Acrylic Backer over the threaded studs on the Keypad. Use the Switch Pros Nylock 
nuts to secure the backer.  

 
7. Insert the (4) supplied #6 bolts through the mounting holes on the SDHQ Bezel. Use the 

supplied washers and nylock nuts to secure the bezel to the backer. Tighten all hardware. 
 

 
 

8. Finish wiring your Switch Pros. Enjoy your new SDHQ Switch Pros Keypad Mount! 
 
 
 
 
 
 

 



 

For questions or help with the installation, please call SDHQ Offroad @ 480-633-2929  
Mon.–Fri. 8:00am–5:30pm and Sat. 8:00am–3:30pm Arizona Time. www.sdhqoffroad.com  

Page 6 of 6 

 
 

***Double check all hardware is installed correctly and tight*** 
 

***Re-torque ALL bolts after 100 miles*** 
 
 
 

 
 
 
 

 
190 S McQueen Rd 

Ste 109 Gilbert, AZ 85233 
Phone: 480-633-2929 | Fax: 480-633-1791 

www.sdhqoffroad.com 
 
 
 

Follow us on: 

 Facebook   Instagram 

http://www.sdhqoffroad.com/

